
Supporting Information

Persistent Electron-Transfer State of a -Complex of Acridinium Ion

Inserted between Porphyrin Rings of Cofacial Bisporphyrins

Makiko Tanaka,
a
 Kei Ohkubo,

a
 Claude P. Gros,

b
 Roger Guilard,

b,*

and Shunichi Fukuzumi 
a,*

a 
Department of Material and Life Science, Graduate School of Engineering, Osaka

University, SORST, Japan Science and Technology Agency, Suita, Osaka 565-0871,

Japan

b 
LIMSAG, UMR 5633,  Université de Bourgogne, 9, Avenue Alain Savary BP 47870

21078 DIJON Cedex, France

* To whom correspondence should be addressed.  

E-mail: Roger.Guilard@u-bourgogne.fr, fukuzumi@chem.eng.osaka-u.ac.jp  



S1

S1

Synthesis of H4DPOx.

General Methods for Synthesis.  The synthetic method of H4DPOx is shown in

Scheme S1.  
1
H NMR spectra were recorded on a Bruker DRX-500 AVANCE

transform spectrometer at the Centre de Spectrométrie Moléculaire de l’Université de

Bourgogne; chemical shifts are expressed in ppm relative to chloroform (7.258 ppm).

Microanalyses were performed at the Université de Bourgogne on a Fisons EA 1108

CHNS instrument.  UV-visible spectra were recorded on a Varian Cary 1

spectrophoto- meter.  Mass spectra were obtained on a Bruker ProFLEX III

spectrometer in the MALDI / TOF mode using dithranol as a matrix.

Scheme S1

       

O

H4DPOx

CHO

CHO

N CO2Et
H

4.2 eq.

conc HCl.

abs EtOH
reflux 4h

O

N
N

N
N

N N
NN

H H

H
H

O

NH
CO2Et

CO2Et
NH

NH
CO2Et

CO2Et
NH

O

NH
H

H
NH

NH
H

H
NH

Diethylene glycol
NaOH

1 h 30 min : 383 K
1 h 30 min : 463 K

N
H

N
H

CHOOHC

PTSA ; N2

abs MeOH ; stirring 48 h

1 2 3

4

5

6

85 %

88 %

2.2 eq

15 %

*H4DPOx : DP is for DiPorphyrin and Ox is for diphenyl Oxide

Silica gel (Merck; 70-120 mm) was used for column chromatography. Analytical

thin layer chromatography was performed using Merck 60 F254 silica gel (precoated

sheets, 0.2 mm thick).  Reactions were monitored by thin-layer chromatography and



S2

UV-visible spectroscopy.  Bis(2-formylphenyl)ether 1 is commercially available and

was used as received.  Ethyl 3-ethyl-4-methyl-1H-pyrrole-2-carboxylate 2
1
 and 5,5’-

diformyl-3,3’-diethyl-4,4’-dimethyl-2,2’-dipyrrylmethane 5
2
 have been synthesized as

already described.

2,2’-Bis-(5,5'-(ethyloxycarbonyl)-4,4'-diethyl-3,3'-dimethyl-2,2’-dipyrryl-

methyl)diphenylether (3).  Mixtures of 1.20 g of bis(2-formylphenyl)ether 1 (5.30

mmol) and 4.03 g of ethyl 3-ethyl-4-methyl-1H-pyrrole-2-carboxylate 2 (22.3 mmol)

were dissolved in 30 mL of hot ethanol.  Concentrated hydrochloric acid (1 mL) was

then added and the solution was stirred under reflux for 4 h.  The mixture was cooled

to room temperature and the resulting solid was filtered and washed by cold methanol,

then dried to give the title product 3 (4.12 g, 85%).  
1
H NMR (CDCl3):  8.50 (brs, 4H,

NH), 7.03 (m, 6H, ArH), 6.24 (d, J = 7.6 Hz, 2H, ArH), 5.74 (s, 2H, CH), 4.24 (q, J =

7.1 Hz, 8H, -CH2-CH3), 2.68 (q, J = 7.5 Hz, 8H, -CH2-CH3), 1.69 (s, 12H, -CH3), 1.29

(t, J= 7.1 Hz, 12H, -CH3), 1.05 (t, J = 7.5 Hz, 12H, -CH3). MS (MALDI-TOF): m/z =

915.01 [M]
+•

, 915.12 Calcd for C54H66N4O9.

2,2’-Bis-(4,4'-diethyl-3,3'-dimethyl-2,2’dipyrrylmethyl)diphenylether (4).  A

suspension of 4.16 g of 3 (5.7 mmol) in diethylene glycol (150 mL) containing NaOH

(15.0 g) was heated at 383 K under N2 for 1 h 30 min and then at 463 K for another 1 h

30 min after which the solution was allowed to cool to room temperature.  The mixture

was poured into ice water (2 000 mL) and the resulting solid was filtered, washed with

water and then dried to give compound 4 (2.50 g, 88%).  
1
H NMR (CDCl3):  7.40 (brs,

4H, NH), 7.02 (m, 6H, ArH) 6.37 (d, J = 7.6 Hz, 2H, ArH), 6.20 (br s, 4H, CH), 5.61 (s,

2H, CH), 2.39 (q, J = 7.5 Hz, 8H, -CH2-CH3), 1.76 (s, 12H, CH3), 1.11 (t, J = 7.5 Hz,

12H, -CH3). MS (MALDI-TOF): m/z = 626.38 [M]
+•

, 626.87 Calcd for C42H50N4O.

2,2’-Bis-(2,8,13,17-tetraethyl-3,7,12,18-tetramethylporphyrin-5-yl)

diphenylether (H4DPOx, 6).  To a solution of 2,2’-bis-(4,4'-diethyl-3,3'-

dimethyldipyrromethan-5-yl)diphenylether 4 (2.49 g, 4.0 mmol) and 5,5’-diformyl-3,3’-



S3

diethyl-4,4’-dimethyl-2,2’-dipyrrylmethane 5 (2.50 g, 8.8 mmol) in methanol (1 500

mL) was added 30 mL of a solution of p-toluene sulfonic acid (15 g, 79 mmol) in

methanol during 18 h.  The dark red solution was stirred at room temperature under Ar

for 48 h.  o-Chloranil (4.6 g) was added, and the solution was stirred in air for 1 h.

The mixture was taken to dryness and redissolved in 250 mL of dichloromethane.  A

saturated methanolic solution of Zn(OAc)2•2H2O (10 mL) was added and the mixture

was refluxed for 1 h.  The organic phase was separated and washed 3 times with water

(500 mL), then dried over MgSO4.  The zinc derivative was isolated by column

chromatography on silica gel (CH2Cl2).  Demetallation by 6 M HCl afforded the free

base bisporphyrin, which was further purified by chromatography (silica gel,

CH2Cl2/MeOH 100/0 to 95/5 in volume).  Purple microcrystals of bisporphyrin were

obtained in 15.0% yield (m = 420 mg).  
1
H NMR (CDCl3):  10.09 (s, 2H, meso), 8.52

(brs, 4H, meso), 8.09 (d,
 
J = 7.3 Hz, 2H, ArH), 7.79 (m, 2H, ArH), 7.23 (m, 4H, ArH),

4.12-4.39 (m, 8H, -CH2-CH3), 3.39 (s, 12H, -CH3), 2.06 (t, J = 7.7 Hz, 12H, -CH3),

1.30-1.70 (m, 32H), -3.45 (s, 2H, NH), -3.90 (s, 2H, NH). MS (MALDI-TOF): m/z =

1123.67 [M]
+
, 1123.52 Calcd. for C76H82N8O. UV-vis (CH2Cl2), max (nm) (   10

–4
,

M
–1

 cm
–1

): 391 (58.9), 506 (5.5), 540 (3.1), 574 (3.0), 627 (1.3).  Anal Calcd for

C76H82N8O: C, 81.25; H, 7.36; N, 9.97. Found: C, 81.56; H, 7.27; N, 9.69.

Reference

(1) (a) Barton, D. H. R.; Zard, S. Z. J. Chem. Soc., Chem. Commun., 1985, 1098.  (b)

Barton, D. H. R.; Zard, S. Z. Tetrahedron, 1990, 46, 7587.

(2) Harvey, P. D.; Proulx, N.; Martin, G.; Drouin, M.; Nurco, D. J.; Smith, K. M.;

Bolze, F.; Gros, C. P.; Guilard, R. Inorg. Chem. 2001, 40, 4134.



S4

S4

Full author list of reference 35

Frisch, M. J.; Trucks, G. W.; Schlegel, H. B.; Scuseria, G. E.; Robb, M. A.; Cheeseman,

J. R.; Montgomery, J. A.; Vreven, J., T.; Kudin, K. N.; Burant, J. C.; Millam, J. M.;

Iyengar, S. S.; Tomasi, J.; Barone, V.; Mennucci, B.; Cossi, M.; Scalmani, G.; Rega, N.;

Petersson, G. A.; Nakatsuji, H.; Hada, M.; Ehara, M.; Toyota, K.; Fukuda, R.;

Hasegawa, J.; Ishida, M.; Nakajima, T.; Honda, Y.; Kitao, O.; Nakai, H.; Klene, M.; Li,

X.; Knox, J. E.; Hratchian, H. P.; Cross, J. B.; Adamo, C.; Jaramillo, J.; Gomperts, R.;

Stratmann, R. E.; Yazyev, O.; Austin, A. J.; Cammi, R.; Pomelli, C.; Ochterski, J. W.;

Ayala, P. Y.; Morokuma, K.; Voth, G. A.; Salvador, P.; Dannenberg, J. J.; Zakrzewski,

V. G.; Dapprich, S.; Daniels, A. D.; Strain, M. C.; Farkas, O.; Malick, D. K.; Rabuck, A.

D.; Raghavachari, K.; Foresman, J. B.; Ortiz, J. V.; Cui, Q.; Baboul, A. G.; Clifford, S.;

Cioslowski, J.; Stefanov, B. B.; Liu, G.; Liashenko, A.; Piskorz, P.; Komaromi, I.;

Martin, R. L.; Fox, D. J.; Keith, T.; Al-Laham, M. A.; Peng, C. Y.; Nanayakkara, A.;

Challacombe, M.; Gill, P. M. W.; Johnson, B.; Chen, W.; Wong, M. W.; Gonzalez, C.;

Pople, J. A. Gaussian 03, Revision C.02,, Gaussian, Inc.: Wallingford CT, 2004.



S5

S5

0.08

0.10

0
0 0.40.2 0.6 1.00.8

0.04

0.06

0.02

[H4DPOx]/ ([H4DPOx]+ [AcH+])

A
b

s 
at

 5
20

 n
m

Figure S5.  Job’s plot obtained by absorption band at 520 nm for the complex

formation between H4DPOx and AcH
+
 in PhCN ([H4DPOx] + [AcH

+
] = 2.5  10

–5
 M).



S6

S6

(a)

9.5 7.58.08.59.0

Chemical Shift, ppm

[H2OEP]:[AcH+]= 1:1

H2OEP

AcH+

(b)

H2OEP

Chemical Shift, ppm
2.10 1.95

[H2OEP]:[AcH+]= 1:1

AcH+

1.80

Figure S6.  (a) 1
H NMR spectra of H2OEP, AcH

+
, [H2OEP]:[AcH

+
]= 1:1, in CDCl3.

(b) Change in the chemical shift of the porphyrin moiety.



S7

S7

    

–0.4–0.20 –0.6 –0.8

E vs SCE, V

–0.46 V(a)

–0.5–0.4–0.3 –0.6 –0.7 –0.8

E vs SCE, V

–0.57 V(b)

Figure S7.  (a) CV and SHACV of AcH
+
 (3.0  10

–3
 M) and (b) AcH

+
 (3.0  10

–3
 M)

in the presence of H4DPOx (3.6  10
–3

 M) in deaerated PhCN.  Sweep rate: 0.1 Vs
–1

for CV and 4 mVs
–1

 for SHACV.



S8

S8

1.0 µA

0.2 1.21.00.80.60.4

E vs SCE,V

Figure S8.  DPV of H2OEP (5.3  10
-4

 M) in the presence of various concentrations

of AcH
+
 (0 to 8.2  10

-3
 M) in PhCN. The arrows indicate the direction of change.



S9

S9

700 1000900800
Wavelength, nm

R
el

at
iv

e 
In

te
n

si
ty

, a
.u

. 777 nm

Figure S9.  Phosphorescence spectrum of H4DPOx in 50% EPA/ 50% ethyl iodide at

77 K.



S10

S10

10

4

2

6

8

0 1.60.80.4

lo
g

 (
k E

T
, s

-1
)

- GET, eV

0
1.2

Figure S10.  Marcus driving force (– GET) dependence of intramolecular ET rate
constants (log kET) using eq 2 with the  (0.54 ± 0.01 eV) and V (1.6 ± 0.3 cm–1) values,
derived from the temperature dependence of kBET in Figure 11, including the
experimental values for photoinduced ET ( ) and BET ( ) in deaerated PhCN at 298
K.  The broken curves indicate the error limit derived from uncertainty of the  value
and the V value.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <FEFFd5a5c0c1b41c0020c778c1c40020d488c9c8c7440020c5bbae300020c704d5740020ace0d574c0c1b3c4c7580020c774bbf8c9c0b97c0020c0acc6a9d558c5ec00200050004400460020bb38c11cb97c0020b9ccb4e4b824ba740020c7740020c124c815c7440020c0acc6a9d558c2edc2dcc624002e0020c7740020c124c815c7440020c0acc6a9d558c5ec0020b9ccb4e000200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee563d09ad8625353708d2891cf30028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f003002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c4fbf65bc63d066075217537054c18cea3002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


